Math 002-Ex2-Term 011 Part Il (Provide complete solution showing all necessary steps)

1. (a) Select thevalue of each expressionin List I, from the values

listedinList II:
List| The List Il
(The Expression) Value a1l
gn+l 6 _
1. cosg > pa,n—O,iLiZ,... b) - /3
2. sec®20" - tan® 20~
C) tan120°
3 1- 03540‘ d) 0
tan115-+ tan5- R
" 1- tanl15-tan5- ®) cos0
5. cot20-sec20" f) csc20-
g) cos70”

1. (b) Find the exact value of
AP 6

I COS SEB

ii.  5cot(150-)- 6tan(- 300-)
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2. () If tanxz-f,%<x<2p , find the value of cosé‘%?.
1Y)

2 (b) Verify theidentity:  2csc2q =tanqg + cotq
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3

3. (8) Using thereduction identity, rewrite f(x)=?sin2x- %cost:

Also, find:
I.rangeof f.

ii. period of f.

iii. amplitude of f.

Iv. phase shift of f.

3. (b)Verify theidentity: — 1 +_ 1  —2scrg
1- anqg 1+9nq
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4. (@) I. If a+ b=p, find cosa + cosb.

Ii. Use part (i) to find the value of

PO, PO, PO, PO, PO
CO%€B+ CO% 5 b+ CO% 5 .+COSé 5 b+ CO% 5 Q

2

4. (b) Given tana =- g fora inQuadrant Il and cscb :-i—i for bin
Quadrant IV, find sec(a - b)
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5. (a) Thefollowing figure shows that two shipsare at pointsP and
Q and aso, an airplaneis a point R. When the arplane is at
the height of 3500 ft, the angle of depression from airplane to P
Is 45- and to Q is 30-. Find the distance between the two ships.

5. (b) Find the solution set of the equation cos’ 2x- 2cos2x=3 inthe
interval p £x£4p .
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6. If f(x)=4cos=x+-=,thenfindits
@ 1f ()= dcof x+ B2

¥ amplitude |ii. period i, phase shift

Also, draw the graph of the function f over onecycle

-3p -2p -p 0 p 2p 3Pp

6. (b) Thegraph of the function
f (x)=2cot(ox + c)
has period %and phaseshift & totheleft. Find f(p).
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